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Expresie algebrica  :

Parte literarăCoeficient

Termeni asemenea

Adunarea si scăderea :

29+34 5,1g 7×2.7 .

- 2b 5.x.y 7.✗
•

g. 2-

2 / AT

5×y 7×2
ba±+?⃝by+Ea_× -②by
hoax +2b¥

g×±zy-2=1 -15J
✗G-2) ty(b+5)=4±f.



Exerciții: 

A. 7×+3
y
- 2x+ 5g = ✗17

-2.) try (3.1-5)
=5×+87 .

2. 3×2-2×+9 ✗ - 4×2 =
✗43-4.)+✗ (-2+9) = -1×2+7✗

3. + (Lab-3a2t4b7¥5abta2-25) =←

2ab-zazthb-5ab.at Ib? -Zab -4a2+6bZ=
4.T.is#.-7yT-42-)-OTTx-s-yt32-)-6/x-l4yt82--6x+i5y-92---Ay-1£ .

I. 4551 - 255g +7-FIA - 355a
Tosaftp.?nt7--3.)--f5a.6--6r5a .



6. 2f6④y- 5r6☒y①-756×4-+356xy2-xtf.FI?n-.7.)tr6xyY-5t3)---5r6xy-2foxy2
"

¥¥
t.kz#a-rat5a-(2B-4) •a

YFba_✗a¥fa¥a¥a- Ya = -3r3a_ § }p
8. IF ✗

2- 58×2+252×2- 52×2
3É .

- 252*+28*-12×2=202×2
9. rslaraxisriygro) - ftp.rs-y-T.fsx-hrs-1?#1-

.a¥-EoEoy-2*+4510 =

:|:-GRoyi-2fo-hr.io =-Corley taro . ¥25do . 25×+213×1-5×-24×73×17-10×2 =



10 . 25×+2[3×1-5×-21-✗13×17-10×2 =
25×+2(3×25×+2×2-Gx) - 10×2 =
25×+21-5×-211×) - 10×2 =
25×+1*2-22✗ -1/0×2=3×+0 =3✗ .



Like
Share
Subscribe !


